Math 214 Spring 2006 SHOW ALL YOUR WORK BONUS Quiz 3

1.In the following two cases, determine whether span (4, U, W) = R3 or not.

(a) 4 points. Suppose U = [1 1 0] [1 0 1]and@W=[0 1 1]
Does span (@, U, W) = R3? EXPLAIN YOUR ANSWER' o
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(b) 4 points. Suppose U = [ 1 =10 ],;17: [ -1 0 1 ] and W = [ 0 -1 1 ] Galk ged" [72
Does span (@, 7, W) = R3? EXPLAIN YOUR ANSWER!

o -] 0 O [ ] 1 O]
(—I—(D?‘fg 2(&)*[ -{.0 ‘%(Oil‘a> ”?(Ol\\
5008 0 poo

ol !l:o ( O
o | A
A zero rov peans fhat cred
Mmert arc b ons 7
CW‘I'CvV+C3U: be L
Cz-Cy Q73 fet ¢ CﬁNS
/" \

0 ,
PN B X

(c) 2 points. Are the vectors in part (a) linearly independent or linearly dependent? Are the

vectors in part (b) linearly 1ndependent or linearly dependent?” EXPLAIN YOUR ANSWER‘
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